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( C ) 25.This college in engineering courses.
(A) claims (B) feeds (C)excels (D) values

( A ) 26. The elevator  , so we walked all the way up to the top floor.
(A) broke down (B) break in (C) broke out (D) broke up
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( B ) 27

( C )28

( B ) 29.

( D ) 30.

( B ) 3l

( C) 32

( A) 33

( D) 34

( D) 35

( A) 36.

24V I3FERC AN ERFBEREAPAMFH il 34

Paying close attention to your outline for basic organization, you should proceed without worrying about the of
writing. This is not the time to concern yourself with perfect spelling, grammar, or punctuation.

(A) referenda (B) refinements (C) regimentals (D) rehabilitates

Because you cannot write about all causes or all effects, you should try to identify and develop the most important ones.
Consider that some causes are immediate, others ; some visible, others hidden.

(A) general (B) trivial (C) remote (D) hideous

The richness and elegance of this grown-up scene filled my eleven-year-old mind with wonder. Just looking upwards made
me dizzy, the ceiling was so high that [ felt ~ and small.

(A) insolent (B) insignificant (C) intensify (D) incomplete

He got low marks. , he did not prepare for the test.

(A) Separately (B) Hopefully (C) Particularly (D) Apparently

Bob:

Rob: Do you have your charger with you?

Bob: No, I left it at home.

Rob: You can use mine if you want. I have a spare one.

(A) I am in charge of it.

(B) My phone needs charging.

(C) It needs to be changed.

(D) My phone is charging.

Amy: What did the doctors say?

Betty: They said there’s nothing more they could do. It could be any day now.
Amy:
(A) OK. I am ready.

(B) How about Wednesday?

(C) I am so sorry.

(D) Let’s get it over with.

Joe: I can't believe it.

Tom: Oh no, that's terrible! Did they lose anything valuable?

Joe: Yeah, their passports, credit cards, and all their cash were in there.

Tom: I hope they reported it to the authorities. Losing all that must be so stressful.

(A) They had their bags stolen.

(B) They stole their bags.

(C) They had stolen their bags.

(D) They were stealing theipbags.

Jim: Hey, Tim, I was thinking about joiningithe hiking club next weekend. Want to come along?
Tim: Hmm, hiking sounds fun, but unfortunately, I have a wedding to attend.

Jim: Ohythat's too bad. Well, maybemnext time?

TimsDefmitely! But'hiking in the mountains is for me this weekend.

(A)out of proportion (B).out of sight (C) out of touch (D) out of the question

M: I' manage a small chain ofjjewelry stores. We have seven locations spread around the state.
W: Well{ then Lsecommend our hosted system. It sits on our computers, and you can it through any web browser.
(A)upgrade (B) quest (C) back (D) access

Wi Avatarwas the biggest box office success of the year.

M: Over twothousand people showed up for the for the reality show.
(A) auditiew (B) galleries (C) biography (D) exhibits

emerged.

An earthquake shook the coastal town, its tremors leaving behind a double-edged impact. At first, chaos ensued, buildings

crumbled, and lives were disrupted—a catastrophe unfolding before their eyes. However, amidst the rubble, a blessing in disguise

The quake served as a wake-up call, prompting residents to take precautionary measures they had long neglected.

Communities rallied together, strengthening bonds forged by adversity. New, earthquake-resistant structures rose from the debris, a
testament to resilience and foresight. What seemed like a tragedy transformed into an opportunity for growth and renewal, reminding

all that hope prevails even in the darkest moments.

( B ) 37

How did the earthquake initially impact the coastal town?
(A) It strengthened community bonds.

(B) It caused chaos and disruption.

(C) It led to the construction of new buildings.

(D) It had no significant effect.
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( D ) 38. What is the “double-edged” impact mentioned in the passage?
(A) An impact that is sharp and dangerous.
(B) An impact that occurs twice in quick succession.
(C) An impact that affects two towns simultaneously.
(D) An impact with both positive and negative consequences.
( C ) 39. According to the passage, what was the ultimate outcome of the earthquake?
(A) The complete destruction of the coastal town.
(B) The formation of new identities among residents.
(C) The construction of earthquake-proof structures.

(D) The construction of earthquake-vulnerable structures.

The scene is familiar enough, but this painting goes too far. The girl is treating her bird as if it were an ancient hero laid
out on a bier. She has concocted an animal version of classical soldier’s death, something out of Homuner or Racine. She has very
poetically draped the bird’s cage with ivy, and artfully arranged its dead body so that the'head droops pitifully over the edge. (It
makes the bird look like an opera singer who has just been stabbed.) Even the girl’s gestureds theatricali the kind of histrionic
pose children tend to pick up from their parents.

She does seem to be suffering, but her sadness is modeled on melodrama. Perhaps she has béen reading too many romantic
poems. (If she were a contemporary girl, we would say she had been reading hef older sistef’s Mills and‘Beon paperbacks or
Harlequin romances.) It’s easy to picture the solemn ceremony that will follow: she will dress in fall morning, and take the dead
bird out to some poetic solitary place under a weeping willow.

(' B ) 40. Which of the following will be the best title for the reading?
(A) Dead Poets
(B) False tears over a dead bird
(C) A romantic story of a girl who loves reading
(D) A romantic girl who loves birds
( D ) 41. How would a reader know that the female ¢haracter in the reading DOES NOT live in the 21% century?
(A) Any girl of Z generation doesdot read Homer’s works.
(B) Any young man in the 21 century do€s not keepia bird as a pet.
(C) The girl reads Harlequin’s poems.
(D) The girl is not a cofitemporary girl.
(A ) 42. From the paragraphs ene/ouldsguess that the@irl is
(A) giving a funeral forhespet
(B) watching an opera
(C) reading a book written by Homer
(D) givinig a funeral for a hero who happens to be her best friend
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